BC Calculus – FDW 3rd Edition – Section 4.3 Even Answers

Quick Review 4.3

2. -2 < x < 0, x >2   4. 
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8. y = 0   10. y = 0 and y = 375

Section 4.3

2. local max (2,5), local min (0,-3)   4. local min (1, e)   6. local min (0,1)

8.(a) (0,2)  (b) x < 0, x > 2   10.(a) x > 0  (b) x < 0   12.(a) 
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 (b) none   14. (0,0)   16. (0,0), (2,16)   18. (1,4)   20. (0,0), 
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22.(a) x = 0, 
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, ‘+’ -1.25 < x < 0, x > 1.25, ‘–’ x < -1.25, 0 < x < 1.25  
     (b) x = 
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, ‘+’ x < -.7, x > .7, ‘–’ -.7 < x < .7 
24.(a) [-2,2]  (b) 
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  (c) local max when x = 2, local min when x = -2

26.(a) 
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     (c) Initial Position, xo = 6 m, Initial Velocity, vo = -2 m/s, constant acceleration –2 m/s2  

          which results in the object ‘speeding up’ as it moves left with decreasing velocity.

28.(a) 
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     (c) xo = 0 m, vo = 0 m/s. Since acceleration is initially positive (6 m/s2), the particle start  

         moving to the right (positive direction). When t = 1, the particle changes directions.

30.(a) t = -.2, 4, 12  (b) t = 1.5, 5.2, 8, 11, 13  

32. (a) Logistic Regression! Here we go with the TI-84!  Logistic [L1, L2, freqlist, regequ] ?
1. Enter the data into List 1 and List 2, hitting the 
[image: image16.wmf]STAT

 then 1:Edit 

2. Leave out the frequency list. Default is to assume only one occurrence per data point.
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3. Now go back to 
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, scroll right to CALC and scroll down to B: Logistic (above) 
4. You’ll see  Logistic  (and then type in the following with no parentheses)  L1, L2, Y1 

5. Hit ‘ENTER’ and after a few seconds you should see (see the screen shot above)… 

6. Now fit the constants: a, b, c into the equation shown here:
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 to get:  
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      Insignificant Figures?

 (b) Here’s the ‘look’ of the logistic curve:
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BC Calculus – Section 4.3 Even Answers (continued)

34. 
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, hence local max (-2, 228) and local min (2, -28)

36. 
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, max (-2,4),(1,58), min (-1,-18), (2,36)

38. local max at (1, 1/e)   40.(a) x = 2  (b) x = 4  (c) x = 1, 1.63, 3.37 

42. [image: image26.jpg]


 46. [image: image27.jpg]


 48. [image: image28.jpg]



44. No, consider y = x4 which has a zero 2nd derivative but is concave up at x = 0
50.(a) [0,3]  (b) nowhere  (c) local max at x = 3, local min at x = 0

52.(a) Global Max at (0,2), Global min at (2,-1) & (-2,-1)  (b) at (1,0) & (-1,0)  
(c) [image: image29.jpg]


 (d) f(-3) = f(3) and 
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54.[image: image31.jpg]


  56. True. This is the 2nd Derivative Test for a local maximum.

58. E   60. A   

62. (a)
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 which is positive when ‘abc’ is positive. 
(b) 
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= 0 when 
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 and note the sign change.
Quick Quiz – Sections 4.1 – 4.3

2. D   

4.(a) Factor to get the sign chart or number line showing relative maxima at x = 
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and relative minima at x = 1, 4 

   (b) I pts at 
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 and note the sign changes of the 2nd derivative.

   (c) f(-2) > f(2)  hence the absolute maximum is 
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(c) fastest growth at 4.6 or during 1981 (inflection point)


(d) limit of the cable subscribers is about 41 million


(e) cable available for more communities today as well as more shows offered today
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